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I[y] = J’X*’ F(x,y, y',dMy™)dx = stationary (3.7.1a)
under
Y(X,) = Ya» Y(%X,) = Yoo
y'(X)) = Yo Y'(X,) = Yo,
- S (3.7.1b)
y(n—l)(xa) — y(n—l)a' y(n—l)(xb) - y(n—l)b

00000000 F(x,y,y,dy™OO00000G(x,y,y,0y")y000

FOy, YY) = 5 600y, YY), x, < x<x, (3.7.2)
goooooogo
1yl= [ F(x,y, v dmy ™ )dx
= G(Xy, Yy Yo, By ") =G (X, Y, Vo Y™ ™a) (3.7.3)

ooobooooboooboouoda=o0bboobbooobboogonb
oooOobooboboooooooooobooobooboc,cme  ooooon

1d , n—
= ol reytrmme, vy

=C,yy' +C,y'y"+ I+ C,_y"y® (3.7.4)
goobooogboooobooogooodgn
0o00o00ooooooooooooooQ@onoooooooon
oogo

I[u] :HQ F(x,y,u,u,,u,)dxdy = stationary (3.7.5a)
under
u=a onfl (3.7.5b)
goobooodobo rFOOOA BOOO
F(x, y,u,u,,u,) = A (X, y,u)+B (X, y,u) inQ (3.7.6)
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0oo00oo0o0ooO
I[u] = [f, Fdxdy = [ (A, +B,)dxdy = [ (An, +Bn,)ds (3.7.7)

gubdliltubdobobdgboguboboboboboboboooonod
Od=0000000000DODOO0O0O0O0O0O0O0ODDODODODODODOOOO

0000000000 u(xy)D00000000000 u,u,-u,00
00000000

Uy, —Uy” = (Uu,), = (Uyu,), (3.7.8)

OO00doooodtob evleriog0ooobo0oooooogooooo b
gooooobod

gooobbooooobbooooobboooog@Eryuogooboo
oddtbibn=100000000

Ily]l= be F(x,y, y")dx = stationary (3.7.9a)

under
y(Xa) = VYar  Y(X%) =Y, (3.7.9b)
000000000000 DOyO0 200000000000000O00O000
o0doooododddydoooo 100000000 ooooooo
O0000000DOyOdODODOO100000000000DO00DOO
ooooo

0=4al =be(Fy5y+ F,o") dx (3.7.10)

O0D00OO0¢y' 000000 0000000000y dww'oonononoao
gobooobgao

0o=a=§ Fydxé)/%ib -[ %‘ F,dx 5 F, gxf'dx
= _IXX“ %XX Fydx% F, %ydx (3.7.11)

Ooooo@rzop)ooooooon
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L:bc‘iy'dx = 3y(x,) - dy(x,) =0 (3.7.12)

000000 0000boboooobd(Du Bois-Reymond)D D OO0 OO0 o oo O
00

%’XX Fydx% F, =C, X, SX=5X, (3.7.13)

gobodobdggcoboboboobboobobobobbobboobobo
OO0O0D0D0OO0O0O0OEBulerdgogn

d
F, —&Fy, =0, X,<XZX, (3.7.14)
O0000(@.7.13)000
=R uyy) =g Fadhe, x sxsx, (3.7.15)

HREREEN Fy,DDDDDDDDDDDy'DDDDDDD
y'=f(xVy,F,), X, SX<X, (3.7.16)
O0000000DO000O0O00D0O0yD 2000000000
bbbty lbbuouobbuoouobooouog
O000200000000 BWlerO000O0O0OOOOOO 372000
0o oooooooooooooo
O0000000DbO0O0oDOod

guodgi1bougggobooood
Uy.0uggagoboboooodd

0371 0JO0oO0oOoOn

goobooCoCobbbDoUoUoUobbObbDbbbObOoOoUOo0OUUUUOOoUOOne
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L:bn(x)dx =0 (3.6.17)
000000000000000000 yx)OOO0O0Rx)O000

J’ y(x)n(x)dx =0 (3.6.18)

OooDoODbOoOooocoooooo
y=C, X,<X<X, (3.7.19)
oood
O0o0ooooObo00oooodDyxouooooobcoouooo

["(y-C)ix=0 (3.6.20)
000000000000000000R(x)0000
be(y—C)ndx=IXb yndx—CIandx:O (3.6.21)

godgdtdbn=y-COO0OU

Xp 2
J. (y=C) dx=0 (3.6.22)
Ooooooo
y=C, X,S<X<X, (3.7.19)
Ooooooo
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